vmnk 1dYr eMG vejkorh
fn- 31-03-2020 jktr vIyY;k vu''lkph effgrt n*kfo. gk rDrk
XV & d
3G ok Hjrh
futuLry tyfid %ekl% 85 %

,db [sC |ST |VJ(A) INT(B) [NT(C) [NT (D) [SBC |OBC SEBC |EWS |OPEN
13% 7% 3%  [25% |35% [2% 2% [19% 13% |10 % |25 %
etj in 5 1 1 0 0 0 0 0 0 0 0 3
Hjyyh in 5 1|0 0 0 0 0 0 1 0 0 3
fjor in 0 0 1 0 0 0 0 0 -1 0 0 0
vu'l'k 1 0 1 0 0 0 0 0 0 0 0 0

futuLrj fyfid Yfooy* 100 %

di [SC [ST [VI(A) INT(B) |NT(C) |NT (D) [SBC |OBC SEBC |EWS |[OPEN
13% [7% 3%  [25% [35% [2% 2% [19% 13% |10 % |25 %
etj in 8 1 |1 1 0 0 0 0 1 0 0 4
Hjyyh in 5 1 |1 0 0 0 0 0 1 0 0 2
fjor in 3 0 0 1 0 0 0 0 0 0 0 2
vu''k 3 0 0 1 0 0 0 0 0 0 0 2

lo{kd J.é&2 100 %

di [SC ST |VI(A) INT(B) [NT(C) |NT (D) [SBC |OBC SEBC |EWS |[OPEN
13% [7% 3%  [25% [|35% [2% 2% [19% 13% |10 % |25 %
etj in 5 1 1 0 0 0 0 0 0 0 0 3
Hjyyh in 4 0o |1 0 0 0 0 0 0 0 0 3
fjor in 1 1 0 0 0 0 0 0 0 0 0 0
vu'l'k 1 1 0 0 0 0 0 0 0 0 0 0

]
xV&d

)G ot Hyrt Yevrxr vi/kEpulnkpkt
mPpLry fyfid Yfooy! 15 %

di |SC [ST |VI(A) [NT (B) [NT(C) [NT (D) [SBC |OBC  [SEBC |EWS |OPEN

T 13%[7%[3% [25% [35% [2% 2% [19%  [13% |10 % [25%
etj in 1 | oo o 0 0 0 0 0 0 0 1
Hjyytin | o | o [ 0| o© 0 0 0 0 0 0 0 0
fjbr in 1] oo o 0 0 0 0 0 0 0 1
VUK 1 | oo o 0 0 0 0 0 0 0 1

futuLry fyfid %ekl% 15 %

4t |SC [ST |VI(A) [NT (B) [NT(C) |NT (D) [SBC |OBC  [SEBC |EWS |OPEN

U 13%[7%[3% [25% [35% [2% 2% [19%  [13% |10 % [25%
etj in 1 | oo o 0 0 0 0 0 0 0 1
Hjyytin | o | o [ 0| o© 0 0 0 0 0 0 0 0
fjbr in 1] oo o 0 0 0 0 0 0 0 1
VUK 1 | oo o 0 0 0 0 0 0 0 1




XV &M

XV & d
AT
mPpLrj fyfid %ekl% 85 %
,d.IsC ST [VJ(A) [NT(B) |NT (C) |NT (D) |SBC |OPEN
13% (7% |3 % 25% |[35% (2% 2% |67 %
etj in 3 1 0 0 0 0 0 0 2
Hkjyyh in 2 0 0 0 0 0 0 0 2
fjDr in 1 1 ]0 0 0 0 0 0 0
vu'l'k 1 1 0 0 0 0 0 0 0
mPpLrj fyfid Y%fooy' 85 %

di |SC |ST [VI(A) NT (B) [NT(C) |NT (D) [SBC |OPEN
’ 13% (7% |3 % 25% |[35% (2% 2% |67 %
etj in 5 1|1 0 0 0 0 0 3
Hkjyyh in 1 0 0 0 0 0 0 0 1
fjbr in 4 1 1 0 0 0 0 0 2
vu'lk 4 1 1 0 0 0 0 0 2

rit=d depkjh J.k & 3 4r=K J.kt & 1 % 100 %
di |SC |ST [VI(A) NT (B) [NT(C) |NT (D) [SBC |OPEN
’ 13% (7% |3 % 25% |[(35% (2% 2% |67 %
etj in 10 1 1 0 0 0 0 1 7
Hjyyh in | 0 0|0 0 0 0 0 0 0
fjbr in 10 1 1 0 0 0 0 0 7
vu'lk 10 1 1 0 0 0 0 0 7

rit=d depkjh J.i & 5 4r=K J.k & 3 % 100 %
di |SC |ST [VI(A) NT (B) [NT(C) |NT (D) [SBC |OPEN
’ 13% (7% |3 % 25% |[35% (2% 2% |67 %
etj in 9 1 1 1 0 0 0 0 6
Hkjyyh in 7 1 1 0 0 0 0 0 5
fjbr in 2 0 0 1 0 0 0 0 1
vu'l'k 2 0 0 1 0 0 0 0 1

IjG Tof Ajri

vmnk 1dYn foHix| vejkord

rif=d deplj) J.0 & 6 ir=K J.i & 4% 100 %
Ak [sc [sT Vi) [NT(®) [NT () [NT (D) [sBC|oBC  [SEBC |EwS [OPEN
13% |7%(3% [25% [35% (2% [2% |19% |13% |10 % |25 %
etj in 1|1 [ 1] 1 0 0 0 0 2 1 1 4
Hjyyiin [ 2 | o [ o] o 0 0 0 0 0 0 0 2
fjbr in o | 1 [ 1] 1 0 0 0 0 2 1 1 2
vu'lk o [ 1 [ 1] 1 0 0 0 0 2 1 1 2

vmnt |5Y| ,OHM VHM

rif=d deplj) J.0 & 6 ir=K J i & 4% 100 %
4 |SC [ST [VI()[NT(B) [NT(C) [NT (D) [sBC[OBC  [SEBC [EWS [OPEN
T 13% (7% (3%  [25% [35% (2% 2% [19%  [13% |10 % |25 %
etj in 0] 1 |1] 1 0 0 0 0 2 1 1 3
Hjyyiin | 1 | o [ o | o 0 0 0 0 1 0 0 0
fjbr in 9 [ 1 [ 1] 1 0 0 0 0 1 1 1 3
vu'l'k 9 [ 1 [ 1] 1 0 0 0 0 1 1 1 3




